SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			Dial Lubricants P.O. Box 540607 Dallas, TX 75354-0607 Steve Wixon Tel: 972-501-0266 Fax: 972-501-0265	
DESCRIPTION:	Est. Qty.			
4. SAE 5W30 SYNTHETIC BLEND ENGINE MOTOR OIL, 55 gallon drum, as per bid product specifications Brand: Citgo Supergard Synthetic 5W30 Motor Oil or equal	2	drums	\$331.36	\$662.72
Specify Manufacturer Being Proposed:			Total Quartz Synthetic Blend FE 5/30	
Specify Product Number/Order Code:			311253.00	
<ul> <li>20. RUST AND OXIDATION INHIBITED OIL - ISO- 100 TERRESTUC, 5 gallon pail, as per bid product specifications</li> <li>Brand: Castrol Paradene Rust and Oxidation Inhibited Oil or equal Specify Manufacturer Being Proposed: Specify Product Number/Order Code:</li> </ul>		pails	\$40.82 Premium R&O 100 P0107906	\$122.46
<ul> <li>24. ANTI-WEAR (AW) HYDRAULIC OIL – GRADE</li> <li>68, 55 gallon drum, as per bid product specifications</li> <li>Brand: Citgo AW Hydraulic Oil or equal</li> </ul>	12	drums	\$349.65	\$4,195.80
Specify Manufacturer Being Proposed:			Premium AW Hydraulic 68	
Specify Product Number/Order Code:			P0110308	
<ul><li>26. GEAR OIL - 80W90, 5 gallon pail, as per bid product specifications</li><li>Brand: Citgo Premium Gear Oil or equal Specify Manufacturer Being Proposed:</li></ul>	1	pail	\$38.53 Premium Gear Lube 80/90	\$38.53
Specify Product Number/Order Code:			P0200105	
<ul><li>27. GEAR OIL - 80W-90, 55 gallon drum, as per bid product specifications.</li><li>Brand: Citgo Premium Gear Oil or equal</li><li>Specify Manufacturer Being Proposed:</li></ul>	2	drum	\$411.76 Premium Gear Lube 80/90	\$823.52
Specify Product Number/Order Code:			P0200108	
	1 of	17		

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304 DESCRIPTION:	Est.		Dial Lubricants P.O. Box 540607 Dallas, TX 75354-0607 Steve Wixon Tel: 972-501-0266 Fax: 972-501-0265	
	Qty.			
28. GEAR OIL - HEAVY DUTY, SAE 85W-140, 55 gallon drum, as per bid product specifications Brand:Citgo Milemaster GL-5 or equal	5	drums	\$425.35	\$2,126.75
Specify Manufacturer Being Proposed:			Premium Gear Lube 85/140	
Specify Product Number/Order Code:			P0200907	
<ul> <li>30. SYNTHETIC GEAR LUBRICANT SAE 50, 5 gallon pail, as per bid product specifications</li> <li>Brand: Citgo Svnthetic or equal</li> <li>Specify Manufacturer Being Proposed:</li> </ul> Specify Product Number/Order Code:	2	pail	\$96.47 Premium Synthetic Gear Lube SAE50 F-656	\$192.94
<ul> <li>31. SYNTHETIC GEAR AND BEARING LUBRICANT ISO VISCOSITY GRADE 150, 5 gallon pail, as per bid product specifications</li> <li>Brand: Mobile SHC 629 or equal Specify Manufacturer Being Proposed:</li> <li>Specify Product Number/Order Code:</li> </ul>	5 4	pail	\$28.92/gallon or \$144.60/pail Citgo Citgear Synthetic EP 150 632583001004	\$578.40
<ul><li>53. DIESEL EXHAUST FLUID, as per bid product specifications, 2.5 gallon jug</li><li>Specify Manufacturer Being Proposed:</li><li>Specify Product Number/Order Code:</li></ul>	500	jugs	\$8.24 NoxGuard P0730070	\$4,120.00
GRAND TOTAL				\$12,861.12
Specify the telephone number for ordering products covered under this solicitation.			972-501-0266	

Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals

Contract Period: 8.19.2014 thru 8.18.2015

Buyer: Sam Cooper (214) 653-6304

#### **DESCRIPTION:**

Est. Qty.

Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes. Contact Person Name:

Telephone Number: E-Mail Address:

Specify the Alternative (Back-Up) Contact Person:

Contact Person Name: Telephone Number: E-Mail Address:

Does your firm has a local Warehouse/Distribution Center within the Dallas County or the surrounding Counties and are capable of providing the goods listed herein at the time of bid submission? If yes, please provide the name, address, and telephone number of the warehouse/distribution centers: Yes \_\_\_\_\_\_No\_\_\_\_\_

Physical Address: City, State and Zip Code: Business Telephone Number:

Toll-Free Telephone Number:

Dial Lubricants P.O. Box 540607 Dallas, TX 75354-0607 Steve Wixon Tel: 972-501-0266 Fax: 972-501-0265

Steve Wixon 972-501-0266 x102 steve@diallubricants.co m

Eric Nilsson 972-501-0266 x113 eric@diallubricants. com

Yes

1839 Ryan Road Dallas, Texas 75220 972-501-0266

800-382-7990

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			Douglass Distributing 325 E Forest Ave. Sherman, Tx 75090 Rodney Reed Tel: 903.893.1181 Fax: 903.891.1261	
DESCRIPTION:	Est. Qty.			
1. SAE 5W20 SYNTHETIC BLEND ENGINE MOTOR	1,500	gallons	\$6.14	\$9,210.00
OIL, as per bid product specifications, bulk, Brand: Citgo Supergard Synthetic 5W20 Motor Oil or equal				
Specify Manufacturer Being Proposed:			Pure Guard Syn Blend 5W20	
Specify Product Number/Order Code:			DDC 5W20	
3. SAE 5W20 SYNTHETIC BLEND ENGINE MOTOR OIL, quart size, as per bid product specifications Brand: Citgo Supergard Synthetic 5W20 Motor Oil or equal	12	quarts	\$2.16	\$25.92
Specify Manufacturer Being Proposed:			Pure Guard Syn Blend 5W20	
Specify Product Number/Order Code:			DDC 5W20	
Specify the number of quarts per case:			12 per case	
5. SAE 5W30 SYNTHETIC BLEND ENGINE MOTOR OIL, quart size, as per bid product specifications Brand: Citgo Supergard Synthetic 5W30 Motor Oil or equal	12	quarts	\$2.21	\$26.52
Specify Manufacturer Being Proposed:			Pure Guard Syn Blend 5W30	
Specify Product Number/Order Code: Specify the number of quarts per case			DDC 5W30 12 per case	
<ul> <li>6. HIGH MILEAGE SAE 5W20 SYNTHETIC BLEND ENGINE MOTOR OIL, quart size, as per bid product specifications</li> <li>Brand: Motor Craft. Castrol. Citgo. or equal Specify Manufacturer Being Proposed:</li> </ul>	12	quarts	\$2.16 Pure Guard Syn Blend 5W20	\$25.92
Specify Product Number/Order Code: Specify the number of quarts per case	1 of 1	7	DDC 5W20 12 per case	

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			Douglass Distributing 325 E Forest Ave. Sherman, Tx 75090 Rodney Reed Tel: 903.893.1181 Fax: 903.891.1261
DESCRIPTION:	Est. Qty.		
<ul> <li>7. HIGH MILEAGE SAE 5W30 SYNTHETIC BLEND ENGINE MOTOR OIL, quart size, as per bid product specifications</li> <li>Brand: Motor craft. Castrol. Citgo. or equal Specify Manufacturer Being Proposed:</li> <li>Specify Product Number/Order Code: Specify the number of quarts per case</li> </ul>	12	quarts	\$2.21 \$26.52 Pure Guard Syn Blend 5W300 DDC 5W30 12 per case
<ul><li>13. SAE 15W40 SYNTHETIC BLEND ENGINE MOTOR OIL, bulk, as per bid product specifications.</li><li>Brand: Citigard 700, Castrol Tection Extra Heavy Duty Diesel Motor Oil or equal</li><li>Specify Manufacturer Being Proposed:</li></ul>	200	gallons	\$6.85 \$1,370.00 Pure Guard Syn Blend
Specify Product Number/Order Code:			15W40 DDC SS1540
<ul> <li>14. SAE 15W40 SYNTHETIC BLEND ENGINE MOTOR OIL, 55 gallon drum, as per bid product specifications.</li> <li>Brand: Citigard 700, Castrol Tection Extra Heavy Duty Diesel Motor Oil or equal Specify Manufacturer Being Proposed:</li> <li>Specify Product Number/Order Code:</li> </ul>	5	drums	\$407.00 \$2,035.00 Pure Guard Syn Blend 15W40 DDC SS1540
<ul> <li>18. 30W NON-DETERGENT MOTOR OIL, 5 gallon pail, as per bid product specifications Container Size: Pail</li> <li>Brand: Citigard 600 Motor Oil or equal Specify Manufacturer Being Proposed: Specify Product Number/Order Code:</li> </ul>	2	pails	\$30.50 \$61.00 Pure Guard ND 30W
<ol> <li>30W NON-DETERGENT MOTOR OIL, quart size, as per bid product specifications Container Size: Quart Brand: Citigard 600 Motor Oil or equal</li> </ol>	24	quarts	\$1.64 \$39.36

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			Douglass Distributing 325 E Forest Ave. Sherman, Tx 75090 Rodney Reed Tel: 903.893.1181 Fax: 903.891.1261	
DESCRIPTION:	Est. Qty.			
Specify Manufacturer Being Proposed:			Pure Guard ND 30W	
Specify Product Number/Order Code: Specify the number of quarts per case			12 per case	
<ul> <li>29. GEAR OIL – 90W, 5 gallon pail, as per bid product specifications</li> <li>Brand: Primrose 150220, Lyondell Lubricants or equal</li> </ul>	1	pail	\$44.85	\$44.85
Specify Manufacturer Being Proposed:			Pure Guard GL-5 80W90	
Specify Product Number/Order Code:				
32. TRACTOR FLUID, bulk, as per bid product specifications Brand: Citgo Transgard or equal	700	gallons	\$6.04	\$4,228.00
Specify Manufacturer Being Proposed:			Pure Guard XL Tractor Hyd	
Specify Product Number/Order Code:				
34. MULTIPURPOSE LITHIUM LUBRICATING - GREASE NO.2, 5 gallon pail, as per bid product specifications	2	pails	\$63.05	\$126.10
Brand: Citgo Lithoplex RT No. 2 or equal Specify Manufacturer Being Proposed:			Pure Guard High Temp #2	
Specify Product Number/Order Code:				
41. AUTOMATIC TRANSMISSION FLUID, Shall meet or exceed the requirements for applications that require an ATF satisfying Ford Mercon SP XT6QSP requirements, as per bid product specifications, bulk	200	gallons	\$8.49	\$1,698.00
Specify Manufacturer Being Proposed:			Pure Guard Global ATF	
Specify Product Number/Order Code:				
	3 of 1	17		

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			Douglass Distributing 325 E Forest Ave. Sherman, Tx 75090 Rodney Reed Tel: 903.893.1181 Fax: 903.891.1261	
DESCRIPTION:	Est. Qty.			
43. AUTOMATIC TRANSMISSION FLUID – SYNTHETIC AND LOW VISCOSITY, Car and truck automatic transmissions and other applications that require an automatic transmission fluid satisfying Ford Mercon LV, quart size	4	quarts	\$3.80	\$15.20
Specify Manufacturer Being Proposed:			Pure Guard Global ATF	
Specify Product Number/Order Code:				
Specify the number of quarts per case:			12 quarts per case	
44. AUTOMATIC TRANSMISSION FLUID UNIVERSAL SYNTHETIC - Shall meet or exceed performance application specifications for: Caterpillar Power Shift: TO-2; Chrysler: ATF+4(MS 9602), CVTF+4; Ford: MERCON, MERCON V, MERCON SP, MERCON LV, CVT WSS M2C933-A, WSS-M2C-910A 922-A1, 924-A, General Motors: DEXRON III-H, DEXRON VI, DEX-CVT, Toyota: TYPE T-II, T-III, T- IV, WS, SUPER CVT FLUID TC, Vickers: M2950-S, 1- 286-S, Allison: C-3, C-4, TES-295, TES-389, gallon size	36	gallons	\$33.45	\$1,204.20
Specify Manufacturer Being Proposed:			Mobil Delvac Syn ATF	
Specify Product Number/Order Code: Specify the number of gallons per case:			4 gallons per case	
47. ANTI-FREEZE (ENGINE COOLANT) UNIVERSAL, GREEN – PRE-MIXED 50/50 with DEIONIZED WATER, gallon size, Brand: Prestone. Texaco. Zerex or equal Specify Manufacturer Being Proposed:	212	gallons	\$5.55 50/50 Green Antifreeze	\$1,176.60
Specify Product Number/Order Code: Specify the number of gallons per case:			6 gallons per case	
<ul> <li>48. ANTI-FREEZE (ENGINE COOLANT) DEX -</li> <li>COOL FORMULA - FULL STRENGHT, gallon size, as per bid product specifications</li> <li>Brand: Prestone. Texaco. Zerex or equal</li> </ul>	36 <b>4 of 1</b>	gallons 7	\$10.00	\$360.00

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304 DESCRIPTION:	Est.		Douglass Distributing 325 E Forest Ave. Sherman, Tx 75090 Rodney Reed Tel: 903.893.1181 Fax: 903.891.1261	
DESCRIPTION.	Qty.			
Specify Manufacturer Being Proposed:			100% Orange Antifreeze	
Specify Product Number/Order Code: Specify the number of gallons per case:			6 gallons per case	
51. PREMUIM POWER STEERING FLUID, quart size, as per bid product specifications Brand: Castrol. Texaco. Preston or equal Specify Manufacturer Being Proposed:	50	quarts	\$1.89 Pure Guard Power Steering Fluid	\$94.50
Specify Product Number/Order Code: Specify the number of quarts per case:			12 quarts per case	
specify the number of quarts per case.			12 quarts per case	
52. DIESEL EXHAUST FLUID, as per bid product specifications, 1 gallon container	200	each	\$3.79	\$758.00
Specify Manufacturer Being Proposed: Specify Product Number/Order Code:			Air 1 DEF	
54. MINERAL SPIRITS – LOW ODOR, 55 gallon drum	4	drums	\$284.90	\$1,139.60
Specify Manufacturer Being Proposed: Specify Product Number/Order Code:			Solvent	
55. ALL PURPOSE OIL ABSORBENT, 50# bag, as per bid product specifications	2,700	bags	\$4.08	\$11,016.00
Brand: Absorb-N-Drv or approved equal Specify Manufacturer Being Proposed: Specify Product Number/Order Code:			Floor Dry Goldbabs	
Specify the number of bags per pallet: Specify the weight/size (pounds) per bag:			50 50 -40 lb bags	
GRAND TOTAL			, j	\$34,681.29

Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals

Contract Period: 8.19.2014 thru 8.18.2015

Buyer: Sam Cooper (214) 653-6304

#### **DESCRIPTION:**

Est. Qty.

Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes. Contact Person Name:

Telephone Number: E-Mail Address:

Specify the Alternative (Back-Up) Contact Person:

Contact Person Name: Telephone Number: E-Mail Address:

Does your firm has a local Warehouse/Distribution Center within the Dallas County or the surrounding Counties and are capable of providing the goods listed herein at the time of bid submission? If yes, please provide the name, address, and telephone number of the warehouse/distribution centers: Yes

\_\_\_\_\_ No \_\_\_\_\_

Physical Address: City, State and Zip Code: Business Telephone Number:

Toll-Free Telephone Number:

Douglass Distributing 325 E Forest Ave. Sherman, Tx 75090 Rodney Reed Tel: 903.893.1181 Fax: 903.891.1261

Jasen Sloan 903-813-5145

jasens@douglassdist. com\_

Misty Higgs 903-813-5142

<u>mistyh@douglassdist.</u> <u>com</u>\_\_\_\_\_

Yes

325 E. Forest Sherman, TX 75090 903-813-5145

800-736-4316

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304 DESCRIPTION:	Est.		2412 Fort Edit Tel:	s Heavy Duty Oil 2 Cullen St. Worth, Tx 76107 h Hall 817-336-7140 817.336.7131	
	Qty.				
2. SAE 5W20 SYNTHETIC BLEND ENGINE MOTOR OIL, as per bid product specifications, 55 gallon drum, Brand: Citgo Supergard Synthetic 5W20 Motor Oil or equal	25	drums		\$345.95	\$8,648.75
Specify Manufacturer Being Proposed:			Pure	e Guard/Multiflow	
Specify Product Number/Order Code:			FLU	J 602	
8. FULL SYNTHETIC SAE 5W20 ENGINE MOTOR OIL, Quart size, Brand: Motor craft, Castrol, Citgo, or equal Specify Manufacturer Being Proposed: Specify Product Number/Order Code: Specify the number of quarts per case	4	quarts	F20	\$2.35 e Guard 0 juarts	\$9.40
9. FULL SYNTHETIC SAE 5W30 ENGINE MOTOR OIL, quart size, Brand: Motorcraft, Castrol, Citgo, or equal Specify Manufacturer Being Proposed: Specify Product Number/Order Code: Specify the number of quarts per case	4	quarts	F30	\$2.35 e Guard 0 juarts	\$9.40
<ul><li>11. SAE 15W40 DIESEL ENGINE MOTOR OIL, 55 gallon drum, as per bid product specifications</li><li>Brand: Citigard 600 Motor Oil or equal</li><li>Specify Manufacturer Being Proposed:</li><li>Specify Product Number/Order Code:</li></ul>	28	drums		\$411.95 e Guard/Excell C MO DR	\$11,534.60
<ul> <li>16. HEAVY DUTY ENGINE MOTOR OIL CI-4+</li> <li>15W40, 55 gallon drum, per bid product specifications</li> <li>Container Size: 55 gallon drum</li> <li>Brand: Citgo Milemaster CI-4+ or equal</li> </ul>	1	drum		\$411.95	\$411.95
Specify Manufacturer Being Proposed:			Pure	e Guard/Excell	
Specify Product Number/Order Code:			EXC	C MO DR	

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			241 For Edi Tel:	ts Heavy Duty Oil 2 Cullen St. t Worth, Tx 76107 th Hall : 817-336-7140 : 817.336.7131	
DESCRIPTION:	Est. Qty.				
<ul><li>17. 40W XD MOTOR OIL, 55 gallon drum, as per bid product specifications.</li><li>Container Size: 55 gallon drum</li><li>Brand: Citigard 600 Motor Oil or equal</li></ul>	3	drums		\$384.45	\$1,153.35
Specify Manufacturer Being Proposed:			Pur	e Guard/Excell	
Specify Product Number/Order Code:			EX	CJ4	
<ul><li>21. J-26 UNIVERSAL TRACTOR HYDRAULIC OIL,</li><li>5 gallon pail, as per bid product specifications</li></ul>	2	pails		\$32.99	\$65.98
Specify Manufacturer Being Proposed:			Pur	e Guard/Excell	
<ul> <li>22. ANTI-WEAR (AW) HYDRAULIC OIL – GRADE</li> <li>32, 5 gallon pail, as per bid product specifications</li> <li>Brand: Citgo AW Hydraulic Oil 32 or equal</li> </ul>	1	pail		\$32.99	\$32.99
Specify Manufacturer Being Proposed: Specify Product Number/Order Code:				re Guard/Excell AW 32	
23. ANTI-WEAR (AW) HYDRAULIC OIL - GRADE 46, 5 gallon pail, as per bid product specifications Brand: Citgo AW Hydraulic Oil 46 or equal	1	pail		\$32.99	\$32.99
Specify Manufacturer Being Proposed:			Pur	e Guard/Excell	
Specify Product Number/Order Code:			EX	AW 46	
<ul> <li>25. ANTI-WEAR (AW) HYDRAULIC OIL – GRADE</li> <li>68, 5 gallon pail, as per bid product specifications</li> <li>Brand: Citgo AW Hydraulic Oil or equal</li> </ul>	1	pail		\$32.99	\$32.99
Specify Manufacturer Being Proposed: Specify Product Number/Order Code:	2 of 1	7		re Guard/Excell cell AW68	

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			Felts Heavy Duty Oil 2412 Cullen St. Fort Worth, Tx 76107 Edith Hall Tel: 817-336-7140 Fax: 817.336.7131	
DESCRIPTION:	Est. Qty.			
33. TRACTOR FLUID, 55 gallon drum, as per bid product specifications Brand: Citgo Transgard or equal Specify Manufacturer Being Proposed:	1	drum	\$362.45 Pure Guard/Excell KG-UTHF	\$362.45
Specify Product Number/Order Code: 37. AUTOMATIC TRANSMISSION FLUID, Shall meet or exceed the requirements for applications requiring General Motors Dexron III/ (F-30166) and Ford Mercon (M931113), bulk, as per bid product specifications Specify Manufacturer Being Proposed:	400	gallons	\$5.99 Pure Guard/Excell	\$2,396.00
<ul> <li>Specify Product Number/Order Code:</li> <li>38. AUTOMATIC TRANSMISSION FLUID, Shall meet or exceed the requirements for applications requiring General Motors Dexron III/ (F-30166) and Ford Mercon (M931113), 55 gallon drum, as per bid product specifications</li> <li>Specify Manufacturer Being Proposed:</li> <li>Specify Product Number/Order Code:</li> </ul>	3	drums	FLU 554 \$329.45 Pure Guard/Excell FLU 554	\$988.35
<ul><li>39. AUTOMATIC TRANSMISSION FLUID, Shall meet or exceed the requirements for applications that require an ATF satisfying Ford Mercon V, as per bid product specifications, bulk</li><li>Specify Manufacturer Being Proposed:</li></ul>	200	gallons	\$6.49 Pure Guard/Excell	\$1,298.00
<ul> <li>Specify Product Number/Order Code:</li> <li>40. AUTOMATIC TRANSMISSION FLUID, Shall meet or exceed the requirements for applications that require an ATF satisfying Ford Mercon V, as per bid product specifications, 55 gallon drum</li> </ul>	2	drums	FEXCELL MV ATF \$356.95	\$713.90

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			Felts Heavy Duty Oil 2412 Cullen St. Fort Worth, Tx 76107 Edith Hall Tel: 817-336-7140 Fax: 817.336.7131
DESCRIPTION:	Est. Qty.		
Specify Manufacturer Being Proposed:			Pure Guard/Excell
Specify Product Number/Order Code:			FEXCELL MV ATF
42. AUTOMATIC TRANSMISSION FLUID, Shall meet or exceed the requirements for applications that require an ATF satisfying Ford Mercon SP XT6QSP requirements, as per bid product specifications, 55 gallon	2	drums	\$538.45 \$1,076.90
drum Specify Manufacturer Being Proposed: Specify Product Number/Order Code:			Pure Guard/Excell FQL 578
46. ANTI-FREEZE (ENGINE COOLANT) UNIVERSAL, GREEN – FULL STRENGTH, as per bid product specifications, gallon size, Brand: Prestone, Texaco, Zerex or equal	12	gallons	\$8.33 \$99.96
Specify Manufacturer Being Proposed:			Zerex
Specify Product Number/Order Code: Specify the number of gallons per case:			ZX001 6
50. ANTI-FREEZE (ENGINE COOLANT) DIESEL ENGINE EXTENDED LIFE – FULL STRENGTH, gallon size, as per bid product specifications Brand: Prestone, Texaco, Zerex or equal	140	gallons	\$10.99 \$1,538.60
Specify Manufacturer Being Proposed: Specify Product Number/Order Code:			Zerex ZXED1
Specify the number of gallons per case:			6
GRAND TOTAL			\$ 30,406.56
Specify the telephone number for ordering products covered under this solicitation.			800-332-7132

Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals

Contract Period: 8.19.2014 thru 8.18.2015

Buyer: Sam Cooper (214) 653-6304

#### **DESCRIPTION:**

Est. Qty.

Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes. Contact Person Name:

Telephone Number: E-Mail Address:

Specify the Alternative (Back-Up) Contact Person:

Contact Person Name: Telephone Number: E-Mail Address:

Does your firm has a local Warehouse/Distribution Center within the Dallas County or the surrounding Counties and are capable of providing the goods listed herein at the time of bid submission? If yes, please provide the name, address, and telephone number of the warehouse/distribution centers: Yes \_\_\_\_\_\_No\_\_\_\_\_

Physical Address: City, State and Zip Code: Business Telephone Number:

Toll-Free Telephone Number:

Felts Heavy Duty Oil 2412 Cullen St. Fort Worth, Tx 76107 Edith Hall Tel: 817-336-7140 Fax: 817.336.7131

Eric Franz 800-332-7132 sales@feltsoil.com

Edie Hall 817-336-7132 edie@feltsoil.com

Yes

2412 Cullen Street Ft. Worth, TX 76107 800-332-7132

800-332-7132

SYNOPSIS Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals Contract Period: 8.19.2014 thru 8.18.2015 Buyer: Sam Cooper (214) 653-6304			Reeder Distributors, I 5450 Wilbarger Street Fort Worth, TX 76119 Trey McMasters Tel: 817-429-5957 Fax: 817-429-9052	t	
DESCRIPTION:	Est. Qty.				
10. SAE 15W40 DIESEL ENGINE MOTOR OIL, bulk, as per bid product specifications Brand: Citigard 600 Motor Oil or equal	700	gallons	Dr.c	\$7.21	\$5,047.00
Specify Manufacturer Being Proposed: Specify Product Number/Order Code:			P66 UN0318		
<ul> <li>12. SAE 15W40 DIESEL ENGINE MOTOR OIL, quart size, as per bid product specifications</li> <li>Brand: Citigard 600 Motor Oil or equal</li> <li>Container Size: Ouart</li> <li>Specify Manufacturer Being Proposed:</li> <li>Specify Product Number/Order Code:</li> <li>Specify the number of quarts per case</li> </ul>	12	quarts	P66 UN0313 12	\$2.49	\$29.88
<ul><li>15. SAE 15W40 SYNTHETIC BLEND ENGINE</li><li>MOTOR OIL, quart size, as per bid product</li><li>specifications.</li><li>Brand: Citigard 700, Castrol Tection Extra Heavy Duty</li></ul>	12	quarts	12	\$2.49	\$29.88
Diesel Motor Oil or equal Specify Manufacturer Being Proposed:			P66		
Specify Product Number/Order Code: Specify the number of quarts per case			UN0383 12		
35. MULTIPURPOSE LITHIUM LUBRICATING - GREASE NO.2, 14 oz. tubes, as per bid product specifications Brand: Citgo Lithoplex RT No. 2 or equal Specify Manufacturer Being Proposed:	4	tubes	P66	\$1.87	\$ 7.48
Specify Product Number/Order Code:			UN0345		
Specify the number of tubes per case:			10		
36. HEAT TRANSFER OIL, 55 gallon drum, as per bid product specifications Brand: Citgo Hytherm Oil 46 or equal Specify Manufacturer Being Proposed:	4	drums	P66	\$396.55	\$1,586.20
Specify Product Number/Order Code:			UN0387		

<ul> <li>SYNOPSIS</li> <li>Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals</li> <li>Contract Period: 8.19.2014 thru 8.18.2015</li> <li>Buyer: Sam Cooper (214) 653-6304</li> </ul>			Reeder Distributors, Inc. 5450 Wilbarger Street Fort Worth, TX 76119 Trey McMasters Tel: 817-429-5957 Fax: 817-429-9052	
DESCRIPTION:	Est. Qty.			
45. AUTOMATIC TRANSMISSION FLUID ALLISON OEM APPROVED - Allison transmission OEM approved ATF that complies with TES 295 specifications. Brands: Castrol – TranSynd, International – Fleetrite Synthetic AFT, ExxonMobil – Delvac Synthetic ATF, John Deere - HD Syn Tran, Volvo Trucks North America - Bulldog Synthetic ATF, gallon size	36	gallons	\$30.75 \$1,107.0	0
Specify Manufacturer Being Proposed:			Exxon Mobil	
Specify Product Number/Order Code:			M00585	
Specify the number of gallons per case:			4	
<ul> <li>49. ANTI-FREEZE (ENGINE COOLANT)</li> <li>UNIVERSAL – EXTENDED LIFE – PRE-MIXED 50/50</li> <li>with DEIONIZED WATER, gallon size, as per bid</li> <li>product specifications.</li> <li>Brand: Prestone Texaco Zerex or equal</li> <li>Specify Manufacturer Being Proposed:</li> <li>Specify Product Number/Order Code:</li> <li>Specify the number of gallons per case:</li> </ul>	8	gallons	\$7.50 \$60.00 Chevron CH0374 6	0
GRAND TOTAL			\$ 7,867.44	
Specify the telephone number for ordering products covered under this solicitation.			817-429-5957	
Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes. Contact Person Name: Telephone Number:			Debbie Davis 817-429-5957 x227	
E-Mail Address:			debbie@rdinc.us	
Specify the Alternative (Back-Up) Contact Person:				
Contact Person Name:	2 of	17	Melissa Crabb	

Bid No. 2014-057-6439 Annual Contract for the Purchase of Engine Motor Oil, Lubricants, Grease, Anti-Freeze and Other Related Automotive Chemicals

Contract Period: 8.19.2014 thru 8.18.2015

Buyer: Sam Cooper (214) 653-6304

# **DESCRIPTION:**

Est. Qty.

Telephone Number: E-Mail Address:

Does your firm has a local Warehouse/Distribution Center within the Dallas County or the surrounding Counties and are capable of providing the goods listed herein at the time of bid submission? If yes, please provide the name, address, and telephone number of the warehouse/distribution centers: Yes \_\_\_\_\_\_No \_\_\_\_\_

Physical Address: City, State and Zip Code: Business Telephone Number:

Toll-Free Telephone Number:

Reeder Distributors, Inc. 5450 Wilbarger Street Fort Worth, TX 76119 Trey McMasters Tel: 817-429-5957 Fax: 817-429-9052

817-429-5957 x215 melissa@rdinc.us

Yes

5450 Wilbarger St. Fort Worth, TX 76119 817-429-5957 x221 or 218

800-722-3103